Math 2568, Quiz #9, Summer 2013 Name Kg\{

Instructions: Show all work. Use exact answers unless specifically asked to round.
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1. Consider the basis for R* given by the vectors: 1 , ‘ l i . Find the
1
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representation of the vector v = 0 in this basis.
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2. Given a matrix A which you know to be 6x9 and had 5 pivots, answer the following questions:
a. What is the rank of the matrix?
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b. What is the dimension of Nul A?

Ts= 4

¢. What space are the vectors in Nul A in?

d. Isthe transformation one-to-one?
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f.  What is the range of A, and does it span all of that space?
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